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QUESTION ONE
a) Define an Economic model and give the traits of a good economic model (5 marks)
b) Distinguish between the following;
i) Utility and marginal utility (4 marks)
ii) Perfect competition and monopolistic competition (4 marks)
iii) General equilibrium and partial equilibrium (4 marks)
c) Using a well Labelled graph, show the effect of innovation on a production function.
(3 marks).

d) Explain the assumptions under indifference curve theory (10 marks)

QUESTION TWO
a) List the assumptions under cardinal utility (6 marks)
b) State the limitation of the cardinal utility theory (6 marks)
c) The consumer’s utility function and budget constraints are given as:
Utility function:U = q2q2
Budget constraint: 40 = 2q, — 4q,

i) Write the augmented objective function (1 mark)

ii) Find the levels of q; and q; which maximize the consumer’s utility (3 marks)

iii) Check the second-order condition (2 marks)

iv) What is the maximum utility? (2 marks)

QUESTION THREE
a) With the aid of a diagram, explain the different stages in production (15 marks)

b) Find the returns to scale for the following production function (2 marks)

11
Q = 4]2K?2

c) Calculate the elasticity of substitution for the following production function (3 marks)
Q — LO.SKO.ZS
QUESTION FOUR
a) List the main features of a monopolist? (3 marks)
b) Given the demand curve of the monopolist as X = 50 — 0.5P and the cost function of the

monopolist as C = 50 + 40X



1) Calculate the profit maximizing output, price and the profit (12 marks)

i) Test if the second order condition is met (5 marks)
QUESTION FIVE

a) Discuss why a monopolistic competitor’s equilibrium leads to economic inefficiency

relative to a perfect competitor (6 marks)

b) Explain the assumptions under perfect competition. Distinguish between perfect

competition and monopoly (14 marks)






